UH MODEL LINE FILTER

21MPa(210kgf/cm?)

0O O Maximum operating pressure...... 21MPa(210kgf/cr)
Rated fatigue pressure...... 21MPa(210kgf/cm)X107cycles

O O Filter eled ent is upward removal direction.

0 O Elementd are common to all "U"series (UL,UM,UH).

0 O Both thread and flange type are the same.

Matching flange is available as option.

O O Flow direction can be changed by roatating the upper
cover by180 degree.(Standard is the left-right flow as
shown in picture.)

0 O Specify fluid type for "O"ring compatibility.

Tybe of Element | Element Differenta Option
b Pressure Indicaor Pessure  Change tored) | By pass opening pressure
Standard 0.7MPa 0.3MPa 0.35MPa
High differential 21MPa 0.7MPa Non bypass
M PART LIST
20 [Indicator SUS303 1
19 |Hexagon cap screw | SCM435 8 ® Option
18 | Matching flange | SS400 2
17 _["O"ring NBR 2 | JISB 2401.1B
16 0 0 1 0 1A
15 0 0 1 0 1A
14 0 ] 1 0 1B
13 0 0 1 0 1B
12 ["O"ring NBR 1 [ JISB 2401. 1A*
11 |Back up ring TEFLON 1 JISB 2407. T3 (ENDLESS)
Port size " 10 ["O"ring NBR 1 | JISB 2401.1B
} t 9 | Hexagon Cap Screyf SCM435 4
r—‘@ = ’@——_1 o §§ Port size ﬂg % @9 8 | PF(G)3/8 drain plug| SCM435 1 | 10-16=G(PF)¥>
O / f\ \ ) o i ae @ Ta 7 | Spring hoed SS 1
\ QJ ] — 2w 6 |Spring SWPA 1_[§ Option
I ] = 5 |By pass SECC 1
L——@ T @—J UH igﬁ Port size @D @D 4 Spring 1
T N T 16A 2% 3 | Flowdirection changing device | ADC12 1
w 53 @3 2 | Upper plate FCD500 1
5(2) (3) ()(is)20 @ /@) (19) {\szdn 1_|Body FCD500 1
H - ILL # NAME MATERIAL | QTY REMARKS
Z TT'LT l - J M "0O" ring and Gasket list
2((17 S P -
k=3 - ILL.# Distance
5 Hy = 10 | 11 [*12 |13 | 14 | 15 | 16 |orcenen E'emem
§ il P @ & MODEL removalE[ di
== 5ot *{}ﬂ* LE-ggn G-30 200 | 853 | 622
[ JP = S D UH-04A| 70 | For P-14 p-32
IN out UH-06A G701 5 40 p-18 | P-14 200 | 1553
5 od: d 4-d.XL Bolt UH-08A - 3| 622
B UH-10A} g5 | For | G.55 G-45 | 375 | 2045 | 822
ORE 7 - UH-12A G-95 P18
®//' UH-16A] G-110 [ror 6-110] G-65 G-60 | 450 | 2545|1022
®/, O O H3 height of indicator. | Model ... 36mm E Model ... 91mm
Adding this height to distance element removal.
s * For high differential element, use table below AS568-131 HS900
ILL#
12
MODEL
UH-03A
UH-04A 123
UH-06A
UH-08A 130
UH-10A
UH-12A 139
UH-16A | 145
B Dimension and Standard Flow Rate
Matching Flange (Option) Weight | Standard Flow Rate
A a d2 X iy
MODEL d H MM BlC|P W b X P TS TT [P F | J K] dexg |17 |ke*| (0/min)
UH-03A | Rc(PT)3g 17.8 33
|20 M1 - X
UFH-02A | RePY 206| 60 |146| 120|116 | 61 | 92 | 45 M10x 15 [~ 11 | 21 | 48 | 24 | 70 | 52 0x 35 |G-30/10.0 o
UH-06A | Rc(PT)3), 277 106
61 | 92 | 45 1 14 72 | M12x 45 |G-40| 12.
UR08A | RePT)L 287| 65 | 222|125 116 M10x 15 " 27 | 56 | 42 | 82 12.2 15
UH-10A | Re(PT)11), 43.2 213
374| 81 170|151 | 78 [122| 60 | 20 | 25 —— 16 | 31 | 74 | 52 | 102 | 88 | M16x 55 |G-55(25.4
UH-12A | Re(P)1%, 81 293 M10x 15 797 ° 238
UH-16A | Re(PT)2 | 457| 91 (366|180 |170| 90 | 147 | 74 | 20 | 30 | M12x 17|61.1] 19 | 37 | 90 | 60 | 124 | 100 | M18x 60 |G-70|36.6 433

* The weight not including Matching Flange.

27



» ASSEMBLY PART NUMBER

Seal Option |——UH——| Port Size |—— | Filter Medium Code | — Option —|Flow Direction
*3C:B 30 200 [
6M :B 6 0 200
8C:Bg O 200 CODE | Flow direction
[ 1 LEFT - RIGHT
CODE FLUID CODE| PORT sIZE CODE[ jfm  |MATERIAL][CODE[ fm  [MATERIAL CODE [BY PASS VALVE RGHTALEFT
0 | MINERAL BASE FLUID | | 03A [Re(PT)3(10A) | , I13C lovcon | ormotes | HAQUWIAOMICRON vV_| WIH
F | PHOSPHATE ESTER | | 04A |Rc(PT)¥x(15A) 3CH 50UW|S0MICRON K| witHout CODE | MAGNET
G 06A | Re(PT)3,(20A)  1BM_ | cicron [ABSOLUTE| | 200W J200MESH |STRANER 0 |WITHOUT
WATER GLYCOL AL (PT)lthSA) 6MH MEDIUM || 150W [150MESH | (SUS) M WITH
Cl
# 18€_Lamicron | cooteg | [LOOWV |10OMESH
10A | Re(PT)1%(324) 8CH 60W _[60MESH CODE |MATCHING
12A | Re(PT)11(40A) 25C _[25MICRON]CONTOLE 5| [ 50UK [50MICRON 0 TwitHouT
16A | Re(PT)2 (50A) 10U | 10MICRON | NOMINAL | | 200K |200MESH N WITH
Sample part number % [20U_[20MICRON| RATED || 150K [150MESH |KNOTCH
- - - — * MEDIUM
G-UH-08A-10U-IVN ST 4OMICRON 100K _{IOOMESH | WIRE || e [ npicaTor MODEL ___
SUW [SMICRON | . [|60K |6OMESH 03MPa Setting|0.7MPa Setting
TOUW| 10MICRON |° oy 0 [eunopiug] O o
20UW|20McroN] V) ] VISUAL IF-3 IF-7
*H is highly pressure differential element (21MPa Element) E ELECTRIC EF-3 EF-7
% Do not use for water glycol ELECTRIC
o D ((essTamniomy| EF-3D EF-7D
» REPLACEMENT PART NUMBERGH
-
P —— | Seal Option UH Port Size |—— | Filter Medium Code
Sample part number P-G-UH-08A-10U
® I1SO VG32
@ Viscosity: 32 ¢S 400 O
Model UL,UM and UH common
(Except UH 20 and 24) 6 um (6M)
015 03|/ 04 [
/ 06
/ 4 AL
= 0.1 7
2 /
[a)
w Z
e
) / LA
7 o .04
s yod LA
o / 4 1
AT
e [ [
0 20 40 60 80 100 120 140
FLOW RATE 0 /min
6 um (6M)
0.15 -
/|
//
- 0 // //
S /4" 16 N
7, 7 2
= 01 A >
& / A 134
o -
2 annmp 5
y g i
7 0.05 Vi r =
a o 7
] / =T
o
o =
A | L
0 Z”
0 100 200 300 400 500 600 700 800
FLOW RATE ¢ /min

28





